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; Starting garbage collection due to dynamic-0 space overflow.
; Finished garbage collection due to dynamic-{ space cverflow.
-fevent type=80, vindov=C20010, subvindou=0, x=622, y=225

event type=89, vindov=C20010, subvindov=C30051, x=618, ¥=200

; Starting garbage collection due to dynamic-1 space overflov.
; Finished garbage collection due to dynamic-1 space overflow.
- ent type 80 vmdou-CzOl)l() subvindov=0, x= 622 y-225
- P = Z B {iap: Lun, ===-77}--- FI3-05




80

2 [ GALOI

galois) (x-l—l

2 1] GALOI

' |galois) (=R

2 1] GALOI

galois) (zt

2 11 GALO!

galois) (LI:QL

2 1] GALO!

galois) (wg—ﬂ

2 1 GALO!

3

galois) (3:2—1-—

2 1] GALOI

2
galois) (a™+3)"
4 42

Y T I
¥ §A 33 77

AT

(x +

AT I THREMSERIC s 5 X5 T

DZRKIEATI D00 572 25D T,

Lzl td

—RITIATTIT 2D LEICREEICT RV ENH B,
FEIGRU IeDFF —FK— FAh6D AT E ZFhicst

53 BEE T B A5,

CORETHNIFHFINZD

TRZZVHPEFEATRS, FICHBRLTHEES
i, LFx22EUTORESDHHDT, EHITHHA

THTELBIFETH D,

Bk

RE, BAF. HBRECRORTR

H— VI IIVOFE
EEOBFT~DHEA

BROFES RF A EDA VAR T 2 — R

2IVFI 4 v PR

FE

fEn. =000 4 f&E@%ﬁ%&%%bchﬁ@f&m

< ZOF|H
N— FaE-—

rugari

i o0
ﬂ 1 mathemacs

GALOIS listener

ll

galois) (zz+ y)3

1

:.':6—1—33:4 y+33:2 y2

+33

galols) 7

s
3+1
4

Z2 mathemacs

I

2

Square of & is &',



